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Al Find the length of the arc

78°

6.3 cm

A2 Work out the perimeter

3cm 3cm

A3 Find the length of the arc

n

A4 Work out the perimeter

<>

132°

B1 Arc length is 32 mm, find x

13 mm

B2 Perimeter is 25 cm, find x

8.2 cm

B3 Arc length is 9 cm, find

108°

B4 Perimeter is 40 cm, find r

C1 Find the perimeter of the
shaded shape.

2m
80°

C2 Find the perimeter of the
shaded segment.
6.7 cm

46°
6.7 cm

C3 OB = BC. Find the perimeter of
the shaded shape.

C4 Find length of the band that
goes around the circles.

T

2m

|
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ARC LENGTH AND PERIMETER Ref: G426.
Al Find the length of the arc A2  Work out the perimeter A3 Find the length of the arc A4 Work out the perimeter
8.58 cm 9M6 cm 827 cm 128 cm
»

78°

6.3 cm

3cm ' 3cm

<>

132°

B3 Arc length is 9 cm, find

B4 Perimeter is 40 cm, find »

B1 Arc length is 32 mm, find x B2 Perimeter is 25 cm, find x
r 123 om
13 mm
C1 Find the perimeter of the C2 Find the perimeter of the C3 OB = BC. Find the perimeter of | C4 Find length of the band that
shaded shape. shaded segment. the shaded shape. goes around the circles.
15.2 cm 10 6 om 16.9¢cm
o 6.7 cm 2m
L 80° o
\\/’ D
6.7 cm 658 om
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Q1 Find the length of the arc

Q2 Work out the perimeter

Q3 Find the length of the arc

s

Q4 Work out the perimeter
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Q5 Arc length is 32 mm, find x

Q6 Perimeter is 25 cm, find x Q7 Arclengthis 9 cm, find » Q8 Perimeter is 40 cm, find »
‘ 8.2 cm
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4.77 cm   


Q9 Find the perimeter of the
shaded segment

A

6.7 cm B
ARC
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27.413...

5.235...       

5.235...  = 10.6 cm    
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THEN C%ﬂSD:f_f_ ;

Q11 OB = BC. Find the perimeter | Q12
of the shaded shape.

Find length of the band that
goes around the circles.
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